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Q2.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Question 16 and 17 currently unavailable. Speak to your Maths teacher.
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Ques | Working Answer | Mark Notes
oy +dy=a+b MI | both tems in original denominator
multiplied by )
cg ay-ax=b-dyor MI | for isolating terms in x and non x terms
dy-b=ax—cxy correctly
ffrom cxy+d=ax+bor
cxtdy=ax+b
ey —a)=b—dy M | for taking out a factor of x correctly
provided there are two terms in x
b T |Al[,  _b-d dv—b
- for x= oeeg x=
a-a a-a a—oy

Total 4 marks
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Question | Working Answer Mark [ Notes
3x-2 M squaring both sides to get a correct
il equation
X2 +y'=3x-20e M1 for multiplying by the denominator
and expanding the bracket
Y +2=x3-y)oe M1 for isolating terms in x and
factorising the correct expression of
the equation
7

Al accept x= oe

Total 4 marks
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Question

Working

Answer

Mark

Notes

3y+6x-3=x+5y
Sx-3=2yoe

x=3)2

MI  Multiplying out brackets

MI dep Correctly collecting like terms,
(3 terms needed here)

Al oe

Total 3 marks
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Answer

Mark

Notes

Working
: +hord=
2m2 + 2

S

il
Corect first step
Al

a-zmr2
eg BT

Give full credit to equivalent correct

expressions

Total 2 marks





image9.jpeg
Question | Working Answer Mark Notes
t2= n+ M1 squaring both sides
n
nt2=n+
3 M1 isolating terms in n
M1 factorising
nt2 - 3
n= T
nt2-1) 4 AL or  @HDE-D o
=3 -3
o U-D0+D

Total 4 marks
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Question| Working Answer | Mark Notes
s |m
M1 isolate terms iy’
or divide through by )
n
l=a+—orl-a
32
ErE—— M1 take out)”as a common factor
M1 8 subject

Al
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Question

‘Working

Answer

Mark

Notes

A=(4-orlor

M1

4-7

MIfor isolating 17

Al
Also accept +

Total 3 marks
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Question ‘Working Answer | Mark Notes
4g~9eg =7-3eor 3e~1=Y%g MI Correctly collecting
~4g terms in g on one side

and everything else on
the other
2 =99 =7-3cor3e-7= MI Factorising £(4-9¢) or
20e—4) 20e—4)
3 [Al

Total 3 marks
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‘Working Answer | Mark Notes
m(t—3)=t+1lor 4 M1 clearing fraction
mt—3m=r+1
eg M1 for expanding bracket
mt—t=1+3mor AND
t—mt=—1-3m rearranging so that all

terms in 7 are isolated
on one side of a correct
equation
t(m—1) or M1 take f out as a common
H1—m) factor (in an equation)
3m+1 Al —3m-1
or r="""""oe
1-m

Total 4 marks
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Question ‘Working Answer | Mark Notes
S+ 2e = 4 | M1 Squaring both sides or
o o ke =\Bmi2e clearing fraction
SR =5m e M1 Clearing fraction and
squaring both sides
3 —2e=Smor Sm=2e=3eF Mi Tsolating terms in e i a
B3I ~2) = Sm or ~5m = o2 — 3K) correct equation
=
sm
3k2—2

Total 4 marks
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Question
Number

Working

Answer | Mark

Notes

Warh), 2w
Xt ) xtd)

M1

[[HS may be two separate
fractions or one single fraction|

((brackets may or may not be

Ytd), 2y 3x(x+d) removed on RHS and

xtd)  xtd) | xetd) ldenominator)

Vor + 4) + 2y = 3x(x + 4) MI|LHS may be two separate

or fractions or one single
fraction; if one fraction,

s o Inumerator on LHS may or

Xtd) xxtd)

2

widy 3x(c+4)
X4 w(xtd) dxtd)

Imay not be simplified

(implies previous M1)

((brackets may or may not be
removed on RHS and
ldenominator)

+4y+2x =32 +12x or
y+4y_2=3x(x+4) or

3 +dy 12x or
3 +4y =3x(x+4)

M1

[(Brackets may or may not be
removed on RHS)

(implies previous two M1s)|

FGx ) =3xx+ ) or
YBx+4) =32 +12x

M1

IS factorised correctly -
lexpression in bracket on LHS
Imay or may not be simplified

3x(x+4)

AL

Sx(r+4) 30 +12x

B3] 3x+4
la fully correct method must
Ibe seen in order to award full
Imarks

Total 5 marks|
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Question king Answer Mark Notes
4 |MI for squaring
Hor MIfor removing the fraction
x+1
¥ +1 or MI  for expanding the
4 mx-yix ar bracket and rearranging
LTy for x50 that the terms in
(o7 -)=4y* +1 or x are on one side of the
x(1- correct equation
Al 47 +1

(need to see x=
somewhere)

Total 4 marks
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Question Mark [ Notes
MI  squaring both sides t0 get a correct equation
Ml removing denominator to get a correct
equation
Ml correctly gathering xs on one side of 2
correct equation with non x terms
4 on the other side

A1

Total 4 marks
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Question

Working

Answer

Mark

Notes

A
4r

M1

Al accept cquivalents cg.

ar l\/I
27 " 2\=x

Total 2 ma

ks
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‘Question. ‘Working Answer Mark Notes
5t=5g=21+1 M1 for expanding bracket
within the equation or
division of all terms by 5
51—21=T+5¢ MI (ft a4 term equation) to
isolate terms in
Sg+7 3 [AT oe
3

Total 3 marks
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